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Konsepranus BpeMeHun Nwmst:
IlepenenaiiTe 1aHHOE BpeMs B Yachl U MUHYThI. OTBeTHhI
6 =
00) 135 muH 2 4ym 15 wMmuH . 2 15
1) 208 mun = qu MUH |
2) 129 MuH = qu MUH 5
3) 65mun= qu MHH .
4) 75 muH = gy MUH 4
5) 131 mun = qu MUH 5
6) 76 mun= 9" MHUH 6.
7) 148 mun = qu MUH 7.
8) 297 mun = qu MUH 8.
9) 96 mun = 9" MHUH o
10.
10) 313 mun = qu MUH
11.
11) MUH = 1 4 1 54 mun
12.
12) MUH = 4 4 1 57 MuH
13.
13) MUH = 3 4 u 39 MuH
14.
14) MHUH = 3 4 4 56 MUH
15.
15) MHUH = 5 94 1 43 MuH
16.
16) MUH = 4 4 1 42 MuH
17.
17) MuH = 1 4 1 30 MmuH
18.
18) MHUH = 5 94 ¥ 54 MuH
19.
19) MHH = 3 4 ¥ 44 MuH
20.
20) MHH = 5 94 1 46 MUH
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ﬂh KOHBepTaHI/ISI BpPCMCHHA Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

IlepenenaiiTe 1aHHOE BpeMs B Yachl U MUHYThI. OTBeTHhI
00) 135mMun= 2 yu 15 wMuH
o6. 2 15
1) 208 = 3 28
) MUH 9 U MUH . 3 28
2) 129Mun= 2 qyu 9 MUH 5 2 9
3) 65mMmur= | uym 5  MuH 3. 1 5
4 75mun=__1 uyum_ 15 wmwuH 4 1 15
5) 131mMua=_ 2 uwm_ 1l  wmumH 5. 2 11
6) 76 mun= 1 qyu 16 wmuH 6. 1 16
7) 148mMun= 2 um 28 MuH 7. 2 28
8 297mMun= 4 um 57 MuH 8. 4 >7
1 36
9) 96 mun = 1 yu 36 MHH o
10 5 13
10) 313mMun= 5 um 13 Mun '
1 114
11) 114 wMun=14wu 54 Mun
1. 297
12) 297 wMuH=44u57 Mus
3. 219
13) 219  wmuH=349u 39 Mun
14, 236
14) 236  MuH=34u 56 MUH
s, 343
15) 343 wMuH= 54443 Mun
16. 282
16) 282  wMuH=44u42 muH
17. 90
17) 90 wMuu=149wu30Mun " 354
18) 354  ™MuH=54u 54 Mmun
0% 19. 224
19) 224  wmwme =34 wu44 mun 346

20.

20) 346 MuH =154 u 46 Mun
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